
Note: the best way to study for the tests is to:

· Start by reading the slides and writing them in your note book (if you don´t, your study will be of a much lower quality).

· And then answer the weekly questions.

Reserve some hours (perhaps 4) every week to answer the questions. If you answer them properly, then you’ll need to study much less before for the tests. Students who choose not to answer the weekly questions seldom pass the course.

The answers of the questions should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 7 in bold at the beginning of your answers.





WEEK 7
L12: Closed economy without government “Workers spend what they earn whereas capitalists earn what they spend” (Kalecki). As: MPCw=1; MPCp=0.
1. “If AD determines income, then capitalists earn what they spend.” Present the mathematical explanation for this assertion.

2a). Aggregate profits cannot come from businesses revenues generated by workers’ consumption. Why?

b) Leave aside rents, depreciation and interest costs. In a closed economy the costs of all firms taken together are restricted to wage costs – they do not include raw-materials and energy costs. Why?
3. “In aggregate, capitalists’ expenditure is responsible to all profit income”. Do you agree? Explain.
…

Three sectors:

Kalecki (1954, p.240):
“The capitalists of the sector that produces basic consumption goods, after having sold to their own workers the quantity of the goods that corresponds to their own wages, are left with a surplus of basic consumption goods that will correspond to their own profits. This surplus of basic goods will be sold to the workers of the two other sectors and, since these do not save, the value of those sales will be equal to their wages.” Thus, the profits of the basic consumption goods sector are equal to the sum of the wages of the investment goods sector and of the luxury consumption goods sector.

4. Why can’t the profits of the basic consumption goods sector reflect the demand from wages of that sector?

5. The profits of the basic consumption goods sector reflect the demand from which incomes? Explain.

6. What determines aggregate wages of the investment goods and luxury consumption goods sectors? Explain.

7. Present the causality chain that exists among the following variables: (i) profits of the I and Clux goods sectors, (ii) wages of those sectors, (iii) profits of Cbasic foods sector, and (iv) capitalists’ expenditure.






…

8. Suppose that the profit share is 2/3, the MPCp=0, the economy is well below FE and suddenly a capitalist increases his expenditure by 100€:

a) How much does another capitalist immediately get as revenue? Explain.

b) How much does this other capitalist immediately get as profits? Explain.

c) How much does wage income immediately rise? Explain.

d) In a second step, how much do other capitalists get as profits? Explain.

e) In a second step, how much do workers get as income? Explain.

f) Write down the successive increases in capitalist’s profits. 

g) Present the economic (not the mathematical) reason why these successive increases in capitalist’s profits must be equal to the initial increase in capitalist consumption.
9. In the Kaleckian closed economy without government static model, however much one capitalist spends on consumption his wealth remains the same as before. Do you agree? Explain.


10. In the Kaleckian closed economy without government static model, however much capitalists spend on consumption their joint wealth remains the same as before. Do you agree? Explain.
L13: Determination of profits in an open economy with government. MPCw=1 and MPCp=0.
11. Consider an open economy without government. 
 a) From the structural form of the Kaleckian model, write the equation that shows how profits are determined.

b) “A trade surplus of $10b (compared with a balanced trade account) translates into extra profits of exactly $10b” Do you agree? Explain.
c) If the profit share is ¼, how much higher are profits in the export sector than with a balanced trade account? And in the consumption goods sector? Explain. (Assume no imports).

d) If the profit share is ¼, how much higher is production in the consumption goods sector than with a balanced trade account? Explain. (Assume no imports).

12. Consider now a closed economy with government.
 a) From the structural form of the Kaleckian model, write the equation that shows how profits are determined.

b) “A government deficit of $10b (compared with a balanced government budget) translates into extra profits of exactly $10b” Do you agree? Explain.
c) If the profit share is 1/3, how much higher are profits in the sector than with a balanced government budget? And in the consumption goods sector? Explain. Assume no taxes.

d) If the profit share is 1/3, how much higher is overall output than with a balanced government budget? Explain. Assume no taxes.

13. Present the equation that shows how profits are determined in an open economy with government.
L14: Kalecki’s paradox of profits + the growth rate of production capacity if Y always coincided with YFC.

14. Consider a closed economy without government.
a) From the structural form of the Kaleckian model, write the equation that shows that “capitalists earn what they spend”.

b) Explain why average nominal wages in Portugal declined in 2011-13.

c) Explain the two opposite effects of a decline in nominal wages on aggregate profits.

d) “Those two effects exactly offset each other”. Do you agree? Explain.

15. “For the Kaleckian paradox of profits to hold in a closed economy without government, the marginal propensity to consume out of current profits must be zero.” Do you agree? Explain.

16. Consider now an open economy with government.

a) From the structural form of the Kaleckian model, write the equation that shows how profits are determined.

b) “A government deficit of $10b (compared with a balanced government budget) translates into extra profits of exactly $10b” Do you agree? Explain. 

c) “A trade surplus of $10b (compared with a balanced trade account) translates into extra profits of exactly $10b” Do you agree? Explain. 

17. In an open economy with government, an increase in the unit profit margin still implies a decline in the number of units sold by firms.

a) Why?

b) But the second effect does not fully offset the first one. Why?

Ch 4: Dynamic macro

18.a) What has been the effect of technological progress on the productivity of capital since at least 1954?

b) Why has that been the case?

c) The growth rate of production capacity is roughly equal to the growth rate of the capital stock. Why?

In the following questions, assume there’s no capital depreciation, technological progress is only L-saving and there’s an unlimited supply of labour. Assume also that u = 100%.

19 a) If Y = K, then a savings rate equal to 10% leads to a growth rate of capital of 10%. Why?

b) If Y = K, the higher the proportion of output consisting of investment goods, the higher is the growth rate of capital. Why?

20. If the productivity of capital declines from 1 to 1/2, a savings rate equal to 50% leads to a growth rate of capital of 25% instead of 50%. Why?

21. For a given savings rate, the more productive capital is, the higher is the growth rate of capital. Why?

22. Key question: Explain the reason why a rate of utilization below 100% reduces the rate at which the capital stock grows.

23. A one percentage point increase in the savings rate may not lead to a one percentage point increase in the growth of capital. Why?

24. A one percentage point increase in the rate of capital depreciation necessarily leads to a one percentage point decrease in the growth of capital. Why?
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